fHFiEH
RS FEER PACKING LIST

FBF: FEIBia2#

1,EFESH:

TE: HW202301724 FEPEE 2100kg

EEHEEY | THJ 2100 / 0.5- JXVF =HlAR: A —A{L

B/ 2/2/2 HER:

HAR 1500x1950x2320 FIRY: AEF=T © 1400x2320
2,f885%:

FS| B FEI RS |[8%5H &F
1 |FBE8FE  |EHliE, Y, HARBSIENTESTSE AFE

2 k&M |BREIRE, MIKIEEE, BTPE, HIPERR AN s

3 |FEMRAE  |BEAR, TR, MR, B5), YUBL%RE, XE AFE

4 INiRFE |BIJR, BIIIE ] =AM
5 |FHE  (NBERFHERME, BUESINEY, R ]

6 |SIMZEASHXEE, B, B, SHER, B4 ]

7 |85 |R3IHREM ]

8 [IIMNFE [ JWURER IR E Y, 1822 N

9 |kdE  |BIEEAN, 18 ]

10 |EHZE | ENZR, SRRTEE, SaR BRI

11 LR | ERRIRNAIE T YBREEEE

12 |FRETR | TR BN

13 szt RS RE, WE BRI

14 |38 |WEZR, WEREEK, FRERNT, ES BRI

15 [FER |FKEFR, 8RR, B, Bk BRI

16 |2t |EN224s, BR5|NeetE R4

17 [RIEHR  |JIEHR R

18 |SthmitR | S, YBIEEIER

TESMHE: 19 %

IR RREINF (SR, REtHESWRA, LSHRIFRIE, BRRIRFEER R
R, TRFLELEHER, IFHREHITRNER, BOREFEHITX

HZ=: B . B eE: 5t
BEANEUL =)::R
EPESEUL - =)::R

R IS ARSI AMEM IR .

. RRFERN, MEEWEZEREEANTEENEERERK , FEBARNEIR. g, BEF



MR BE R

) 2= HW202301724 B/5/1] 2/ 2 / 2
FEanis THJ 2100 / 0.5- JXVF SN RF 1500 X 1950 X 2320
EPEK BRAG 24 FIIFRER FHFF=H . 1400 X 2320
|| ARiR & K K5/ A z Hrd | &1 | B B | s % i
U] B | g LR 1651 ORI o e I £ | mies
2 H SR Aebsb I, FeBH R 170X 370, t=12 2 H RIELE R
BRI PriELE 300%310 2 2 10mm
4 | 4 TR ®320-7-8-12 ke, AFR IR 2 A HUR
H PN Bt Pl =900 2 % | Q235 t4d4rHs
3 | H ZAERERR B ] 175X 280 2 fE |ass vz, 5 s
6 | H BRIl £ 48 By P 162 X80 4 # | Q235 tadfas
| H R el 157 X 250 2 | 235/ 451, 2
8 | H SJEAR IR Bt Pl 190 X 280 4 | Q235 t4drds
9 H RIS ] 250 X 595 4 4 Q235 t12
10| A AR R IR o E AR bR A 8 fF | BeEFRE)
8 | A L UG Rt ] KA L=900 2 N @awﬁﬁgge{j;{;, =
10| A S AL KBE. 1=3020 G BEATK: , WATHSZ | 2 & | AR
11| H SCEERATE il © 16 Fiff 4 | B L
12| H B B8 RS, PR P: 1564 X JF1982 1
M ST 2 it Pl =782 0 £ 4MM
13| H H A H- Bl 16 FikF 4 A E]
Al TR Wi GG A BT L=1701 2 f | g, s
5| 5 SRR 200X 260, t=12 2 W RS
6| o T 2L S lffgg’:?%ﬁﬁmo | £ s
18 | 4b P& RK B 4 A | e &
9] H B RHAT D 1648FF 1=2200 4 % | WKL 3MIER
20| H b Bk B AriE L= 400 2 £z | BEITBKR
21 H R ERFT R DB10-3 L=3000 1 % SR
22 | H W PR T AR S 48 TBARHE K. 1=295 2 i
3| A SR R B i DB10-9 1 E | &hHEH
24 | H €l i uis L=900 2 % | Q235 t44rHs
25 | H FIMLAE 0 0 % 0
26 | H S BiT89-1/B, %4 .75X75 H102 5545 5 4t 4 A
o7 s Xif AR i REAM FE s 2 A /N R
b B R IAR J7 AR A 2 A
S HE #4190 X125, A I, AR 0. 5m/s , B : 16 mm ! & 1E21
WP Eg B
29 | 4b AR FkJaih, BTk 1674 1 = | smE LR
30| 4 ERUKSTF R A 1 | SemE bRk
BrEEM R
31| H S MIEERR =282, H=2320 2 ft:
32| H J& HEERR =500, H=2320 2 ff
w33 @ MIFT SERERR Horp— - FF BRI 160 X 1155 =430, H=2320 4 1
B 134] A 1 BERRT L=500, H=2320 4 | 1. omméRAR e E
3B | H ATEERR ] 1=32, H=2320 1 £ | (90185K#)
36 | H AT EERR R HE A 1=132, H=2320 1 f
37| H R TAE 1=1564, H=0 1 f:
LRSS 1=479 1=953 %1 i
38| H EX IS & ] L63 X 63X 6 L=250 12 1
39| A ERN SR L63X63X6 L=200 12 i
40 | H FIE T L63X63X6 L=590 24 1 A%
41| H B AEY it Pl 163 X 63X 6 L=150 24 ff
o [z | [mwisee O ) OHRBR s | 12 i
H FHEFCID L50X 50X 5 L=100 0 ff
H RHE L50 X 50X 5 L=500 0 1
43 | 4h G ERCT) 189-1/B Ziji ﬁ% Si 34 %




M B R

5 &

EFERY HW202301724 B/¥5/17 2/ 2 / 2
RS THJ 2100 / 0.5- JXVF SRR R 1500 X 1950 X 2320
BEFP &R [ ot FII1H KR HEIF=A . 1400 X 2320
A | 75| AR 4 K K5/ 35 Z B Bk | & 0T [ | B | B %
N 5K/%, Hi&E: 6 % .
44 | b PO e TK5A k. . 2 % 34 PS
45 | 4 TS PERAR 189-1/B 6 s
46 | 4t Bl S PUEEIR TK5A 6 o
47 | Hh E SR T89-1/B 78 H
T 48| 4 R SFEUEND TK5A 74 H
Bola9 | st s &) 189-1/B 12 0| pRRATEE
50 | H Rt it KA. L=900 2 | Bebne-L, fLsE96x96
53 | H SEEH T89-1/B £=0.5mm, I.2mm 44 fF LA
54 | A SPHA TK5A £= 0.5mm, 1.2mm 14 as )
55 | 4b RIS & 3B A 4 A
56 | H X 1080 X 3900 1 £ Jic T H sl
57 | H ERI I 75X 60X 100 2 fF | ZEETEXT L
58 | 4b X E ©320-7-8-12 Bk, AR A 2 A | BFCAENT A
59 | 4k UG 16%i1, =/ 1125 4 A | TSR ERE, s
60 | 4k Xt B AR 1050 X 220 X 80 32 1 | 3k105, 53kg/ {1
61 | b X 5 S 13K By 4. B=17 4 A I HE
g 62 | H of 5 B T Af N L= 270 4 fF | SERAE ST
63 | H o BRI bR 2 £ | B sy
64 H X E R 8 270 X340 2 A | BERCAE X B
66 | H X B IE AR 1240 X 1220 2 4 L)
67 | H o EE 4 AR L X 1220 0 4 5B £
68 | H X B AR S 2 L= 390 8 %
69 | A B K A 64>, L=3000 0 %
70 | 4b e B LD-HC-L7 2 A
. 71 | 4b X R DA %5 LD-HC-L11 1 A
' S PR 4 fF
72| H JRYLIER, i H=1500 1 e
- WEHE : 0.5 m/s
sl s | s B XSG60S 4 itk 2 W . ©8 m | £ muwwm
JCHHZ JO 195k 55 4% 8 % Ji pe
74 | H b i btk L=300, H=80 2 4 Tephd
gl 7] BRAIIFSE% % |DBLO-8 1= 375 4 % gmg—ig%()gm;s
55 H R S | bR L= 390 2 % | HiT89-1/B
76 | H PR T G 2 5% H:1900 0 2%
H S8R K10. 3 FLEE: 110 4 i
80 BRI 2 S AR AR L=650, 16#F44K 0 %
81 | 4k EANLL G 8+19S+NF-10 HiF: ©8 609 * 87K X 7%
ol 82| 4 [RIg A AN22 48 8%19s+PP-8 Hiz: ©8 37 ES 3TRX 1%
2 | 83 | 4 FLk D8 6 A
48 | 84 | 4 4kl D8 Sk 421 | 14 £
81 Jesn g b Ll AR 0 0 £
85 | 4h BHEE H R, SR bR R S SR I 2 MBh T oK 1 £ | iB7IREMEK
FE: 1050kg  HuE: Im/s
- - WEIE: 4:1  I)%:6. 4kw A g e O
86 | 4k [Fl2 B 5L ERIL ST oV 1 & | WHEEERIL
M. ©320-7-8-12
87 | A FENLLEER B I 450 X 295 1 | Q235 t164WiR
88 | H EE DN IRl 180X 280 1 i AR ZE 5
89 | H o H4 SA JEpw b 360 X 300 1 s AR ZEL A
?‘j 9 | H FHE JEbRE 130X 250 4 £ | Q235 t104WHk
W 93| A EBEIT RATIR AR E 150 X200 1 £ | Q235 t64iR
94 | H i JEbRB 130X 60 1 £ | Q235 34
95| A R SRR AR e A 260X 510 2 £ | Q235 t104WiR
9% | H BN 2 Sk ek JEbRB 230X 465 2 £ | Q235 t104WHK
97 | H AR (FR) b b 200 X 80 2 fF | 1. 2mm¥EEEIR
98 | H AR ER2 (FR) AR b A 305X 100 2 fF ] 1. 2mm¥EEEAR
99 | H | &g EYE GIE) bR E 382 X370 1 | 1. 2om$EEER
10| H Jrgike o E) #4948 [JERRE 382X 50 2 £ | Q235 t44WR

2 I, S

5 &

2o e m




EFERE HW202301724 B/3/17] 2/ 2 / 2
FrmEE THJ 2100 / 0.5- JXVF SR RSF 1500 X 1950 X 2320
EP &K MRIR i 2t Fi15 RER AHFEIFF =41+ 1400X2320
HAE | 5| ARl E4 i E5 /s Z K B |26 1% [0 FF | U | s g % IE
89 | H RE R KJE: 2800 284 T 4N, MR —%, WAl | 2 4 B P
90| H FREER KB 2800 20848, FoALIEFZIBRE 2 fF Bt
91 H ik TH 14#bFE4N L=700 2 s 14#b R4
;EI 91 | H D T 14#bf84M L=400 2 1 148b K4
Bl 92| H R 28 2 25 fiJa, ArdEE O8N LLLESLER: 240 1 fF L=575
93 | 4k RAREE R Bk, AR A ®320-7-8-12 2 A
96 | b R (X E) Bk, JEbR A ®320-7-8-12 1 A
95 | 4k UL 165, % : 125 2 A | SRR, A
96 | b AR AR B I — Rtk 1 E 11 kw
Ak LAFRIN 1 £z
Hh UCMPHR MCTC-SCB-Al 1 & M
97 | b BEATHSE . B HilRE: 16.2 K 1 5 L i TR
98 | 4b s HLURR R R 4 o
99 | 4k RIS L 7 2 EL 95 B Ko R AL 1 £z
ﬁ 100 | 4+ Y LGS/XC-001 2 /2 /2 1 =
% 101 | 4b | B GEpD LGS/XC-001 TREEICE 1 A
% 102 | 4k rh i R LGS/XC-001 0 A
103 | 4h TR AP I LGS/XC-001 1 n
104 | 4h JRYUEAE A 1 A
105 | 4+ JER T B THUAR A IR AT i 220V / 40W 2 A
106 | 4h 2MEE 2 A
107 | 4k HoL 2 e S A 2 A il
108 | 4k L2 A 2% L= 1000 /% 4 %
109 | 4+ ML HIEAR AEEThE: 11 kw 1 A 40A
110 | 4h FHYRAR AT i BT 220V / 60W 1 A
11| 4h FIEST AC220V 607 2 4 A
112 4h FRUKSTF = 1 A
;’% 13| 4+ TA AR IR LX29-7/3 0 A
- 114 | 4k BT 220VENA%: LED4T :1020X40 | 2 =
s Ab P 500500 0 =
115 | 4h FRHIRE AC220VE:RDC12V 0 A LEDAT H
116 | 4h FRAZITF2% (1370) 4 A
Hh OGRS 1 A
117 4k Eiwap i 1 =
118 4k R A [& 7% HD/BRB 1 it
119 | 4k B E s ST BVARBREIA : 6 mm? 40 K
120 | 4k VS Ak 57 3X0.75 mm? 20 S
121 | 4+ 2. 5mm“ 42k 15 ¥
122 4k 10mm2 ¥ & Hh 2% 15 ¥
123 | 4h P4 4% EE AL 9 R i 2 0 K
124 | 4k [R5 80X 60X 1.2 5 %
125| 4k AR 10 lis
B | 126 4t SRTE KEME, ©30 8 K bl
e | 127 4b SRR i, ©10 2 ES JEiE
| 128 4 WA IRk ®30 mm 4 A
1129 4 R Rk @10 mm 4 A
130 4+ BRI D13, JEH 6 S JEHELH]
131 4k RS Sk @13, 90° 10 A
132 4k Je BT 200mm 200 %%
133] 4k TR B R ®6 mm 117 Hi
134 | 4b HL T i A 3 &
135 | 4+ BRI () 12 A
136 | 4+ £H (K UT10-6 20 A
137 | 4+ ZH M) SV1.25-3.2 40 A
3T e W



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M B R B’

A

g HW202301724 B/%/17 2/ 2/ 2
i ) THJ 2100 / 0.5- JXVF AR 1500 X 1950 X 2320
EPEZW AR FR 4 24t FIIHARERF FHEIF=4 : 1400 X 2320
A |5 | AR 4 i 5 /8 R K | &0 [ R | B % IE
138| H J& TR 462 X 1564 1 vas
139 H AR TIAR 500 X 1564 1 {4 | JFLEDAT : 1020 X 40451
I 140| H AR TR AR 51 500 X 1564 1 vas FIRTEAL
141 H TR 462 X 1564 1 f:
142 4 FFITHL FFITSEE1400X 2320 | & [77], 96tk ALgsdest| 1 1 &, oM-6024
(i) 4%
7 144 H 15 IR Fi 1500 X 800 1 f:
I.’]' 145 AR 964t 1% KB 1=1800 0 1 ITHLAE
146 | H CAREN SR P KJ¥: 1=480 4 %
147] H IR A7 35FF =47 1400 X 23208K3% 1=492 H=2335 2 e T, 1Bk
148| H iR e A5 =Hr: 1400 K. 1=1800 1 % | Q235 t4IE
149 | 4+ Bik NEE Cedd) 917A61-AC220 1 =S R
150 | 4h 2% FFI15E B 1400 X 2320 S OBtk . bR | 2 X:i ) i
FEF =4 : 0CM-602
155 H ZITR L. 2o RARBEHE (90185K35) L=492 H=2335 4 RS B
H R FRAELE 2285 2 fF | RO IRA S
156 | @ WES e 1. omm AR BEIE (90185 ) B=50 L=1505 2 % 0
] PSS 1. 2mmRAREYE (901853K3) B=50 1=2340 4 lis 0
157 WESYNYS L 2nm AR T (9018543 L=483 L=957 %2 %
& RESDRAGIED) 1. 2mmfRAREYE (901853K#) B=50 1=2320 0 lis 0
H & FIERER Ft 30X 75 2 f
7 [158] B B ek Yk 8 1 S
" o] A ERERa B 0 % | ktin¥
160| H Panik:t 0 2 it
161 4 211K K. 2210 2 %
162 H SE IR B KJ¥: L=1800 2 = W
163 H ZE 1R &l 1500 X 400 2 i
164 H JREH R FR 3 K LK%
165| H FEE B SN 30 14K 9 % L 4K/ %
166 H YT t0.5, t1.2 24 vas iR
167| H HARA T t0.5, t1.2 24 F JE
168 H = [ THbIR A R £:500 10 A
169 | 4+ S (HLD 5 kg
170 [ 4+ FATI K 2 kg
171 | 4k BVHAE 1 kg
172 4k FRliiReS 3 kg
Sopp | 173 4 BENLFR IR 1 =
Befk) 174 H RESEE ] ®8 mm, L=1000 0 3 B N
H Bkt mE>20mm, KE200mm, BEMFA>3mmIAE 12 | e DR
175 | 4b LLEE! i) 2 i
176 | b ) ERVIgER UK @ 44022 48 2 %
7 43 HEE IR R oL e T
179 4+ M 4% $ 10 14 % 0 %
180 | 4b AMERE SR A R KE, L=1350 0 vas
181 | 4b [AMEEEF R E Y L=510 0 i og s
i 182 4k 1K O 8247 0 %
= N 1
= Z{ AL 2% T — R q);i'ﬁ n ;
185 4h URIRG (M12, FLEE72) 0 = e
186 | 4h o} H 2 A QJ 1013 ik =0 A4t sz SRR AL 0 £ | XEHEE: 1116

[ TP )

I

N




B R TR

Lk

EFRmY HW202301724 B/ /17 2 / 2 / 2
Eails THJ 2100 / 0.5- JXVF i R~ 1500 X 1950 X 2320
P2 FRFR i o8 FIIARE R HeE =4 . 1400X2320
il aa ey A ) K5/ R % K |0 [P S | B %
1| BRERS A I2kE M16 X 55 BioFh s wERE, Al | 38 ESS 8.8 YAt
1 | BRSPS HR TR IR H2EE M16 X80 Br P2, sk, BR) 24 £ 8.8 AL
2 | FHtiRS R B2HE M16 X 50 Boordd, gk, WERE 0 £ ARS8
3 |SHS R, At 1B M16 X 70 BOROR AL, sk, WERE | 16 z
4 | BRSO TETss 12k M8 X 25 BroPik , #Ek WRE 16 £
5 | FBERES R AT R PR M12X40 AP, Bk, BR) 0 £ AL 2
6 | A 12 M8 X80 BT, iRl #hik. 2R 8 £
7| BRI P2 M12X90 Br-P3, sk, Bk} 2 £
8 | FEER LSBT FE R 2 12 M12 X 45 Be-Pas . BiE, dBRE 16 £
9 [IIHBESC AR 5 N % S 40 2R M12 X 45 BeSPEs ., g, gk 2 =
i |10 IHLE S A0 R 1M M12 X 45 BUSEH, B, R} P =
e 1L [T [ TR S PR M12X 45 Moy, gk, dgh 4 53
e TR ST IhLE e 12 M12 X 45 BOoTak, gk, Wkt 4 &
13 [ PRSIk 1B M16 X 55 B P, siE, R IBRE | 24 £ | 8.8 FAM
14 | PR SRE IZEE M12X45 Bo P, hplk . B WERE 12 £
15 | PRS2 4t HEEE M16 X 60 B P38, 5 RIER. gh3k. ERE 16 £
16 | ik SHATE . hATRE 2R M12X 40 BOT28 . R, JE BRH 12 £
17 Rkt 5 $i bt e IZRIM16 fo2 X Pk, dfE, 3XWERE [ 0 ES R
18 [FiM S5HArHE 2R M16X 90 Be-pas, BiE, gkt 4 £
19 %R H2EE M16X50 BO P, ORI, gh3k . ERE 14 £
20 AL 5 Hh IR AE N B2k M16X50 BOoPs . hRlk . sRE WERE 12 £
21 BRI i AR H2KE M8 X 40 BO-PEe . A, B, BRE 5 £
22 |$5 5KE. TIPS B2 M12 X 40 BooPik , sk, WRE 4 E
23 |BEIR S AR B2 M8 X 30 Br-p3, sk, BR) 70 £
| 24 |BENGERE 12K M6X 20 Br Pk, sEk WRE) 136 B EERIEZ GO
B | 25 |ATEERR SR B2 M8 X 20 Br P-3, sk, Bk} 6 £
26 | BERR 5 5 AR B2H M8 X 30 BooTdd, gk, WER) 50 £
27 |FERSEE OKJEHED KR M12 X 120 CFE R A, B | 48 3 TEEE
28 |FEMS e CHEHE) FHREEM M12X 280 B CPESRE . R | 60 53
9 29 | AR B2EE M12 X 45 Ao P2, sk, BR) 72 £
#, 30 | EPERY W2k M12X45 FoFik, sfdl, Wb} 96 £ 13K
31 |FEIFERY HEEE M12 X 45 BoPak, i, 2R} 58 ) T5K
32 | EPUEER IZEE M12X45 BroPk, sk, WRE 58 £
33 |EIBEEAR HEEE M10X 30 Ar-P-3, Bk, BR) 58 £
34 [WERES FE B2k M8 X 25 fioPa, sk, dER) 8 £
35 |XEALE N B2 K M8 X 25 Br P, sk, Bk} 8 iy
Xt | 36 | Bk E BZEE M10X 40 BooPik , sk, WRE 4 £ | B OHEY
#H| 37 [WE SN E G 1B M10X 30 Bi-pah, i, 2R} 16 i
38 %t SHE S5 T 12k M8 X 25 BooPik, s, iR} 8 £
39 X EPHR SR L4 1B M10 X 25 FooP, dE 2h 24 £
JRYL| 40 [ 5IRbt IR M12 X120 BU Pk, sk WRE) 12 =
ARTE | 41 | PRI 38 5 PR B A I2EE M8 X 25 Bi-pak, i, JER) 4 z
30| 42 [ PR 2 PR JEAKIEAS M10 X 80 AT . ., 85 0 53 WA 5
43 | PRPR TR A 5 R R S 4 B2EE M10 X 25 fr P, sk, BR) 12 £
w44 W R 52 20 5 S 4, 1 it IR M12 X 45 BooF ., sk, WREE 12 £ T13K
- 45 |FERitR 5 48 B2 M6 X 20 AR PR IER 2 £
46 |BREIR R S SRR B2HE M12 X 45 BroPk , sk, WRE 4 ESS T13K
47 | 505 EHLEE M16X 110 BT, i, R, SUBRE [ 4 £ 8.8 %
RS SR I W2 M20 X 65 AFEFERE . g, B | 28 * 8.8 %%
i) R 4 Sk PR [ B2 M22 X 100 AERIRE . PR R 4 X 8.8
5] |48 | FEHLER S i 12k M8 X 25 BroPk, sk, WRE 8 £
BLo[ 49 | M SIHLBHERE e IR M12X 100 AFFRE . R, B | 12 % WA 5
5L W2 M20 X 65 AT L gk, iRk 0 ¥ 8.8 %%
50 | NI K i EEM16 X 45 SRR THGE . B | 0 £ 8.8 %
51 |Fa il [ JZHK Ik M10 X 80 AT . PRk, iR 4 X EPUECE:
52 |HiE HL 2% [ e JKIEET 4% 40 85 52
- 53 | JEHIF IR WK M6 X 30 TG L IR, IBRE 8 i3
o | 54 | BB e BZHE M8 X 25 LR, B, R | 4 =
55 |JRyTREAHIE E JEZAK A8 M8 X 80 AL L gk, 2Rt 4 53 WIE A 5%
56 |25 A E K IEAE M8 X 80 AT . Pk, iR 4 X PR
57 |FAE AR MK IZAE M12 X 100 ALFE T L gk BB Rt 8 X
¥ 5015 k6 T



Skyfree
Skyfree:
114轨用M16X55


R - S R .

Hepegp e HW202301724 B/u/17] 2/ 2 / 2
RS THJ 2100 / 0.5- JXVF HRART 1500 X 1950 X 2320
EPEWR BRI AR 24 FIIHRER AFEIE=H : 1400 X 2320
A s R A 5 /R %z B AP | B B %
58 | ML FLYEAR & K IZHE M8 X 80 G THE . B, B X WA 5
59 |BRLEAEE & JKPRET 4X40 e
60 | EZUKSH K [ 52 [ SLBEAE M5 X 40 AFGFHE ., R, BE £
R 61 [MAiRIT R e [FS B2k M5 X 40 A5 T . Bk, WG £
FLfR| 62 |4 B3 FERSE e Ak IZHE M8 X 80 AT . #Es, W26t 53 WE A4
63 [ M55 LA i e KIS M6 X 50 A5 T . Bk, WG b Wil 5k
64 |MLp5LilER: 12k M6 X 25 =
65 | L i [ HBUE2 MAX10 e
66 |FF IS % A AR B2EE M10 X 25 P P8, =
67 [IIHSE 51z B2 K M10 X 30 BooPH . B, BB i3
HHIT| 68 [F I RS B2 M8 X 25 PSP, g, MERE S
69 |IT#E 5 R %% 1B M10 X 25 e T i3
70 |3 BIAR SC AR S R B2 M8 X 25 [ S N £
71 |MEwE JEZ I 2 AEMB X 100 A TEE . . 18 i3 I B
72 |EI SR 3k BZEE M10X 30 WG B, B £
73 Bl S K 1B M10X 30 AT . Pk i3
74 |EREE 12k M8 X35 [ R N =
EI1| 75 [tk 124 M8 X 25 AL HE L £
76 |HhIRFEZE A JEZHK BB AEML2 X 120 IR TR . B, B £ T4k
77 | A B2EE M10X 30 A THE . EE, 8 £ BIEH]
i s HIHE4 M5, 5X 19 £
78 |FEIEIR R L BMEFENE X 100 P
79 | B R 2 e R 2 5] Sk AR 22 M6 X 25 AL R £
80 |1 MBS TR gfgﬁﬁ;g}f@ AT, S E AR
81 | ¥ AR5 2 I T H IR FEA 4 PUkIE M5X 15 AR HE . £ 217
82 |F IR S I I L IRIE S 22 YikIBFE M8 X 15 R RRE ., S il
X E RS E A 124 M16 X 60 BT O RRE, B B i3
AR R v B2 M6 X 35 AT . ., B 5
EEERL AL AEIR s 124 M5 X 50 AT . Rk iRt 3

"B
o
=
-

=



